60-s bins

o N =y o 0]
1

:00.000 2:00:00.0

00 o
9_031012»32 ,.09-08T0 o ’,.00-08T02 30!

20230
Time (utc)

60-s bins

o N =y o 0]
1

T T T

0 000

. 0100-00 .00:00. R
2023090570555 00-08TOL 5 o070 3

Time (utc)

60-s bins

o N =y o 0]
1

T T T
:00.000_ _ 15:00.00
2 53-00-0

701:30 70
2023-09-08707073.00-0810 553

Time (utc)

0.000

0:00.000

2102:30:00.000

Latitude

Latitude

Latitude

5.0
2.5
0.0
-2.5
-5.0

5.0
2.5
0.0
-2.5
-5.0

5.0
2.5
0.0
-2.5
-5.0

80902333008 FPMB: No SAA Filter

0.59-ks, 100%

i
7

T T T T
50 100 150 200
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=no

T T T
250 300 350

0.59-ks, 100%

i
7

T T T T
50 100 150 200
Longitude

--saacalc=1 -saamode=0PTIMIZED --tentacle=yes

T T T
250 300 350

0.59-ks, 100%

i
7

T T T T
50 100 150 200
Longitude

T T T
250 300 350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins

.00.000
1:30:00-
2023_09-08T0 2023_09.03T

Time (utc)

02:00:00-000

Latitude

Latitude

Latitude

u
=)

N
)

©
<)

|
N
[

|
u
<)

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

80902333008 FPMB: No SAA Filter

0.59-ks, 100%

d

50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no  0.45-ks, 76%
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=yes 0.45-ks, 76%
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
£ 0.0
1 ©
-
-2.5
-5.0
T T T
. 0 0 000
30_00,0 00:00 30:00
2023-09-08T0%7 5 60-08 2 08702
Time (utc)
0-s bins
5.0
o 25
] E
£ 0.0
1 ©
-
-2.5
-5.0
T T T
.00.000 .00.000 .90.000
.30:00.0 .00:00: .30:00
20’23-09‘08T 023-09‘08T02 207.3-09'08T02
Time (utc)
60-s bins
5.0
o 25
] E
£ 0.0
1 ©
-
-2.5
-5.0
T T T
0:00 000 0.0! 02:30100.000

701:30°
2023090877 55

Time (utc)

00
. -00:0!
09:08T0% 00 00-08T

80902333008 FPMB: No SAA Filter ~ 0.59-ks, 100%

d

T T T T T
50 100 150 200 250

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=no

300 350

0.59-ks, 100%

d

T T T T T
50 100 150 200 250

Longitude

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes

300 350

0.59-ks, 100%

d

T T T T T
50 100 150 200 250

Longitude

300 350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
T T T
:30:00. .00:00090 _ _ 30:00.
5023-09-08T0Y 0230908702 003 0.08T02 20
Time (utc)
60-s bins
.00.000 000
2023-00-0870 302'823-09 08702:00:0°
Time (utc)
60-s bins
.00.000 .00.000
023 09-°3T°1230'$3 00.08702:00:0°
20237 20237

Time (utc)

Latitude

Latitude

Latitude

u
=)

N
)

©
<)

|
N
[

|
u
o

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

80902333008 FPMB: No SAA Filter

0.59-ks, 100%

d

50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=no  0.44-ks, 74%
-
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=2 -saamode=STRICT --tentacle=yes 0.44-ks, 74%
-
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
5.0
o 25
] E
£ 0.0
1 ©
-
-2.5
-5.0
T T T
. 0 0 000
30_00,0 00:00 30:00
2023-09-08T0%7 5 60-08 2 08702
Time (utc)
0-s bins
5.0
o 25
] E
£ 0.0
1 ©
-
-2.5
-5.0
T T T
.00.000 .00.000 .90.000
.30:00.0 .00:00: .30:00
20’23-09‘08T 023-09‘08T02 207.3-09'08T02
Time (utc)
60-s bins
5.0
o 25
] E
£ 0.0
1 ©
-
-2.5
-5.0
T T T
0:00 000 0.0! 02:30100.000

701:30°
2023090877 55

Time (utc)

00
. -00:0!
09:08T0% 00 00-08T

80902333008 FPMB: No SAA Filter ~ 0.59-ks, 100%

d

T T T T T
50 100 150 200 250

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=no

300 350

0.59-ks, 100%

d

T T T T T
50 100 150 200 250

Longitude

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes

300 350

0.59-ks, 100%

d

T T T T T
50 100 150 200 250

Longitude

300 350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
T T T
:30:00. .00:00090 _ _ 30:00.
5023-09-08T0Y 0230908702 003 0.08T02 20
Time (utc)
60-s bins
.00.000 000
2023-00-0870 302'823-09 08702:00:0°
Time (utc)
60-s bins
.00.000 .00.000
023 09-°3T°1230'$3 00.08702:00:0°
20237 20237

Time (utc)

Latitude

Latitude

Latitude

u
=)

N
)

©
<)

|
N
[

|
u
o

5.0

2.5

0.0

-2.5

-5.0

5.0

2.5

0.0

-2.5

-5.0

80902333008 FPMB: No SAA Filter

0.59-ks, 100%

d

50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=no  0.44-ks, 74%
-
T T T T T T T
50 100 150 200 250 300 350
Longitude
--saacalc=3 -saamode=STRICT --tentacle=yes 0.44-ks, 74%
-
T T T T T T T
50 100 150 200 250 300 350
Longitude

10°

10°

10°

cts/sec

cts/sec

cts/sec



